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Message value:
Drive object:
Reaction:
Acknowledge:
Cause:

PB/PN clock cycle synchronous operation parameterization not permissible
%1

All objects

NONE

NONE

Parameterization for isochronous operation is not permissible.

Alarm value (r2124, interpret decimal):

0: Bus cycle time Tdp < 0.5 ms.

1: Bus cycle time Tdp > 32 ms.

2: Bus cycle time Tdp is not an integer multiple of the current controller clock cycle.
3: Instant of the actual value sensing Ti > Bus cycle time Tdp or Ti= 0.

< 4:Tpstant of the actual value sensing Ti is not an integer multiple of the current controller clock cycle.

5: Instant of the setpoint acceptance To >= Bus cycle time Tdp or To = 0.

<___6: InstAnt of the setpoint acceptance To Is not an integer multiple of the current controller clock cycle.

7: Master application cycle time Tmapc is not an integer multiple of the speed controller clock cycle.
8: Bus reserve bus cycle time Tdp - data exchange time Tdx less than two current controller clock cycles.
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